5.1 Fundamental Identitics

Basic Trigonometric Identities
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(dd-Even Identifics

sin(—x) = —sinx cos(—x) = cosx
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Simplify the expression (sec®x + csc2x) — (tan®x + cot’x).
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Find all values of x in the interval [0, 27) that solve sin® wcos x = tan x.
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Find all solutions to the trigonometric equation 2sin®x +sinx = 1
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Solv using a calculator.
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5.2 Proving Trigonometric Identities

We are now going to use proofs with Trigonometric Identities!

Recall:
Prove the algebraic identity: T\
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_ 5.3 Sum and Difference Identities
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1. Letu =mwand v = m/2. Find sin(u + v). ¥Find sin(u) + sin(v). - ‘
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2. Letu = 0and v = 2. Find cos(u+ v). Find cos(u) + cos(v).
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Are they equal? NO
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(Note the sign switch in either case.)
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Sine of a Sum or Difference
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Tangent of a Difference or Sum
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5.4 Multiple-Angle Idenftities
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Solve algehraically in the interval [0, 27): cos 2% = sinx.
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Solve ABC given that £4 = 33°, LB = 55°, and = 1"
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A road slopes 10 degrees above the horizontal, and a vertical telephone pole stands beside the
( . road. The angle of elevation of the Sun is 62 degrees, and the pole casts a 14.5 foot shadow
downhill along the road. Find the height of the telephone pole.
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Recall:

Find the area of a regular octagon inscribed inside a circle of radius 9 inches.
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Heron’s Formula

Let a, b, and ¢ be the sides of VABC, and let s denote
the semiperimeter (a+5+c)}/ 2. Then the area of
VABC is given by
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Find the area of a triangle with sides 13, 17, and 20.
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